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Class 12

Important Instructions:
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All questions carry equal weightage.

10 minutes are provided for filling the OMR sheet and reading the instructions.

Exam duration is 1 hour only.

Please ensure that this question paper has 50 questions.

It is divided into the following 2 PARTS —

For class 11 & 12 [PART A] - Commerce: Accountancy, Economics & Business Studies

Humanities: Geography, History & Political Science
Science: Physics, Chemistry, Mathematics / Biology
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For class 11 & 12 [PART B] - For all Streams: English & Logical Reasoning

Students have to attempt relevant PART ‘A’ (Questions 1 to 30).

PART ‘B’ (Questions 31 to 50) completely fill the stream section of the OMR sheet.
Science students attempting Mathematics must fill the ‘Science with Maths’ bubble whereas
Biology (Medical) students must fill the ‘Science with Biology’ bubble in the OMR sheet.
Every question has one correct answer.

Please carefully read the instructions for answering given on the OMR sheet. Candidates
must submit a completely filled OMR sheet before leaving the hall.

There is no negative marking.

Part A (Only for Science Students)

Section A: Physics

1. A point charge is brought in an electric field. The electric field at a nearby point
a. will increase if charge is positive.
b. may decrease if charge is positive.
c. will decrease if charge is negative.
d. may decrease if charge is negative.

faqgd &= o ue foig Smaw arn ST 81 U & foig W fagga &
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2. Two wires of copper have length L and 2L and cross-section area 2A and A respectively.
The ratio of their specific resistance would be

die & &l IR B! ASTS AT L 3R 2L 3R HIg-TaRH &7 2A 3R A g1 3% Ay

UfaRIe T 3{UTd gI
a. 1.2
b. 8:1
c. 1:8
d 1.1
3. A point source of light is placed 4 m below the surface of liquid of refractive index 5/3.
The minimum diameter of a disc, which should be placed over the source, on the surface
of liquid to cut-off all light coming out of water is:
d. oo
b. 6m
C. 4m
d. 3m
U1 BT U fog TId SUdddh YA 5/3 % dRa Bl Tag 4 4 Hex -id @ T 5|
&% &1 gaq o, for it ¥ e arel it Uh1<1 & e o o arvd &t

Tdg TR FId R 31 ST 31T
a. o
b. 6m
c. 4m
d 3m

4. Anammeter reads upto 1 ampere. Its internal resistance is 0.81 ohm. To increase the
range to 10A, the value of the required shunt is
T THeR 1 TR 9o RIS ugd 81 391 Siialke ufeRiy 0.81 304 &1 a1 &
10A I dgH & [T, TIRIH T BT o4 §
a. 0.03Q
b. 0.3Q
c. 09Q
d. 0.09Q

5. Curie temperature is the temperature above which
a. aferromagnetic material becomes paramagnetic.
b. aparamagnetic material becomes diamagnetic.
c. aferromagnetic material becomes diamagnetic.
d. aparamagnetic material becomes ferromagnetic.
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a. BHdfes AARTd WAdfesd 8 ar |

b. T WAAfes ARud sadifes gl Srar gl
c. TRIAAfeH AAfRad SATAfes gl ST g |
d. Th WRvfed uerd Bmdfes g Sar gl

. Calculate the magnetic field induction at the centre of a coil bent in the form of a square
of side 10 cm carrying a current of 10 A.

10 A P YRT TG 3R 10 cm &1 T 1 & U | Uh HSail gl b Hg H g 1g &
URUT 1 0T HR |

a. 11.3x10°T

b. 125x10°T

c. 28x10°T

d. 1.9x10°T

. A bar magnet of length ‘I’ and magnetic dipole moment ‘M’ is bent in the form of an arc
as shown in the given figure. The new magnetic dipole moment will be

| TS 3R daD 1T fggdid 30l 'M' &1 Ueh 9R Jad Uk 919 & &7 | fou Y o
¥ faamar man 8 | O Jeety fgydia smeuf g m

. Atransformer is an electrical device used for

a. producing direct current

b. producing alternating current
c. changing d.c. into a.c.

d. changing a.c. voltages

C
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9. An ideal coil of 10 H is connected in series with a resistance of 5 Q and a battery of 5 V.
Two seconds after the connection is made, the current flowing in ampere in the circuit is

10 H &1 T 3Rl Higd 5 Q & UfaRIY 3R 5 Vv Pt Sedt & 1Y gae d JST g3 |
HF B & < b g TTe, Fiche § vrdier § 55 arell URT 8

a (1—e™)
b. (1—e)

C. e

d. et

10. Which of the following are not electromagnetic waves?
a. cosmic rays
b. gamma rays

c. P-rays
d. x-rays

frafafed & @ o1 fagga e ol 761 82
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x fareol
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Section B: Chemistry

11. Dry ice is an example of which of the following:
a. Covalent solid
b. lonic solid
c. Metallic solid
d. Molecular solid

O ON N

I R T RIqH A b IBTUH IGTERUTR:

a. JgUIIhoY

b. SMAMGHSNT
c. Ufa®a
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13.

14.

d. SMUfdHaN

On dilution, there is an increase in equivalent conductance of a strong electrolyte. Choose an
appropriate reason for the same.

Increase in number of ions

b. Increase in ionic mobility of ions

c. Increase in the number of ions and ionic mobility of ions

d. 100% ionization of electrolyte at normal dilution

o
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The vapour pressure of two liquids P and Q are 80 and 60 torr respectively. The total vapour
pressure of solution obtained by mixing 3 mol of P and 2 mol of Q would be

SIRAPIRQBHATIHICITHHT: 80 MR 60 torrg P & 3 AIASRQ & 2

I A | NI CRE IS PINEARANEIR ME R

o O T o

140 torr
20 torr
72 torr
68 torr

oo o w

Which of the following can be used to distinguish between benzaldehyde and acetone?
a. Tollen’s reagent

b. Sodium hydroxide solution

c. Hydrazine

d. 2,4-DNP

oS g eIRTIIC P a3 R PIAP U U I RITH AP IH ST BT H dTe?

ANGEAEIECRE]

a.
b. ASTHEISSINIS S derdH
C.

RESISIE]




15.

16.

17.

d. 2,4 DNP

The activation energy of a reaction at a given temperature is found to be 2.303 RT Jmol ™.
What is the ratio of rate constant to the Arrhenius factor?

frdifewuaaRIRTS A ares R fhaarss i 2.303 RT Jmol-
! | 3R TR H R o [CTU IR GRS IUTI TG ?

. 0.01
0.1
0.001
0.02

o0 o

Which of the following statements is incorrect about interstitial compounds?
They retain metallic conductivity

b. They are much harder than the pure metal

c. They are chemically reactive

d. They have higher melting points than the pure metal

i

NP
. AU TS ATHIETIRE ]

a

b. IYSUIHIATHIGIS e
i .
d
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. A URIRGHUTID I BT idhaIdle

For the electrochemical cell: M | M* || X" | X, E° [M* | M] = 0.44 V and E° [X | X'] = 0.33V.
Which of the following can be concluded from the data given above?

M + X - M* + X is the spontaneous reaction

Ecen =0.77V

Ecen =-0.77V

M* + X"> M + X is the spontaneous reaction

oo o

o o\

AGRNRIRGIABIT: | M* || X | X, E° [M* | M] = 0.44 V 3TRE° [X | X] = 0.33V
IBE NI R AR IR R AR T R B L AN B EA | R G|
M+ X — M* + X-Jgogfafsharg

Ecell = 077\/
Ecell =-0.77V

M* + X'= M + X ggoufafearg

o oo e



18. What kind of behaviour is shown by a solution of acetone in ethanol?
Obeys Raoult’s law
Shows negative deviation from Raoult’s law

o

b
c. Shows positive deviation from Raoult’s law
d. Behaves like a near ideal solution

ZYTAH T B IHIUTg R AR g h I RTINS ?
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a.
b. ISP HITPRIAB GG TTTS
C
d

SR IE A A R R AN [ EA N BIFCIRIR

-. U e GHIYT TS ST I8 RBATe

19. Find the incorrect statement.
a. Atomic radius of the elements increases as one moves down the first group of the
periodic table
b. Amongst isoelectronic species, smaller the positive charge on the cation, smaller is the
ionic radius
c. Atomic radius of the elements decreases as one moves across from left to right in the 2"
period of the periodic table
d. Amongst isoelectronic species, greater the negative charge on the anion, larger is the
ionic radius

TAdPUTDBTIATH |

a. AP IURATI AT AR UG I Saf RS URY H1d BrefRaguRagalde
b. AMEAZA BT, TFYAITRYATHG S eTeIdTe,

o o Y Y SV
SHADAIISICTIdle

c. T IRATATHTI IR g s aTedeid iR guRYcSd e
d. TSR HBHTSTAAHY, AR AGRIAG A S,
GINIRIECAE R CRIR
20. Mg?* is isoelectronic with which of the ions given below?
Mgz RfeTTEs A Af Gy sTEgNgddc b e?
a. Na*
b. Ca?*
c. Cu?
d. zn?*

Section C: Maths (For Non-Medical students only)

21. A clock strikes once at 1 o’clock, twice at 2 o’clock, thrice at 3 o’clock and so on. How many
times will it strike in 24 hours?



22.

23.

24,
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78

136
156
196
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Let A ={2,3,6}. Which of the following relations on A are reflexive?

A= {2, 3, 6}; A RFRadHIsadsyufaad-ias?

Rl = {(21 2)! (31 3)! (61 6)}
R2={(2, 2), (3, 3), (3, 6), (6, 3)}
R3 = {(21 2)! (31 6)! (21 6)}

None of these

oo o

Ifx+y= %then (1 + tanx)(1 + tany) is equal to

Ufex +y =211+ tan) (L + tany) ___ HRIRE|
a. 2

b. 1

c. -1

d. None of these

If A and B are symmetric matrices of the same order, then
a. AB - BA is a symmetric matrix.

b. A —B isaskew-symmetric matrix.

c. AB is a symmetric matrix.

d. AB + BA is a symmetric matrix.

e A 3R B TSI HGIATH R ®E, af

a. AB - BA TGUAMGARCHG |
b. A - B UHIRS-GAMTHICHRTG |



25.

c. AB UHOHMTHCRR |
d. AB +BA THUHAMHAHC R

If A, B be two square matrices such that |AB|=0, then

gfe A, B AFARIUESRF | AB | = 0, dd

o0 o

26.

27.

BA

Det.A =0

DetB=0

Det. A=0 or Det. B =0 or both A and B =0

A box contains 7 large red marbles, 5 large yellow marbles, 3 small red marbles, and 5 small
yellow marbles. If a marble is drawn at random, what is the probability that it is yellow,
given that it is one of the large marbles?

UhEIaTH 7 ISATAURR, 5 TSUIURR, 3 BICATAURIRSIR 5
BICHATRRE G (AR URR NG AR, g RTHIg s [PUguldTe,
TG dgU b I aS URRHIUHE?

U1|HOOIU1N| l—\l
o|Np |9

A restaurant manager bought 20 packets of apples. Some packets contained 6 apples each,
and the rest contained 12 apples each. There were 168 apples in total. How many packets of
12 apples did the manager buy?

TP RHATRAYED 20 YheTRIc I[FBUbeHTARY 6 JTYARADHH 12 999 IFa

20
168 9| 12 YdhhdTUPbcioRATRIS?




b. 8
c. 9
d. 12
/s Vsinx _k
28.1f [; s dx = -then value of k equals

e fr /2 =Xy = 53l k BTN FRTRE |

/6 Vcosx+sinx

4
a. —
12
b4
b. -
3
b4
2
b4
d. -
7

29. If the equation y = 2* is graphed, which of the following values of x
would produce a point closest to the x — axis?

FeqHieHRUly = 2*HRTIBAHATATATG, dxb R ARITHTH A D -G x-

P ITIPIITGI?

1
a. -
4
3
b. -
4
5
C. -
3
8
d. -
3

30. From a deck of card two cards are drawn. What is the probability that both are of the same
suit?

Y ceS

PIEHUHSDHUG DTS BTG | TR HITTR [0 G I Uh e I a?
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Section C: Biology (For medical students only)

21. Which is the proofreading enzyme in DNA replication in case of prokaryotes?
a. DNA Polymerase |
b. DNA Polymerase Il
c. Primase
d. Ligase

MeHRAIeq & AT H ST Ufdpid § qHifET Tosy o 9187

a. DNA TTerRe |

a. DNAUIRTHST II
b. 3¢
c. NS

22. Which theory is known as Koshland’s theory of enzyme action?
a. Reduced fit theory
b. Lock and key theory
c. Induced fit theory
d. Enzyme coenzyme theory

HIgde Bl ToeH fohar & Rigid & U & ST SIdig?




1. 23. Which pigment gives a pinkish hue to rhizobium induced root nodules?
a. Carotenoid

b. Leghaemoglobin

c Mauveine

d None of the above

ST IR e iegd B SI- 1 qufes Terrst 7 el 82
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24, is not produced during lactose catabolism by E.coli.
B-galactosidase

Thiogalactoside transacetylase

Lactose Permease

Lactose dehydrogenase

o0 oe

EN

& BITFERICH T TIB SR CARRIEEHIERISIGIE

a. B-galactosidase

b. RANTIRNE S TR
C

d

. AR

Y o Y

SEEEISHESEEE

25. Who proposed that the primordial soup is a set of hypothetical conditions on ancient earth?
Dmitry Anuchin

b. Dmitri Ivanovsky

c. Alexander Oparin

d. Nikolay Shatsky

o mTRdTfaafesaTe AUy R G e e R G U aHg 6 ?
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26.

27.

28.

a. faftEftsrfH

b. feffEiigariew!

c. SfaaaiSRSIURA

d. FeraReml

Which of them is an example of convergent evolution?

a. Wings of Geospiza magnirostris, wings of Geospiza fortis
Wing of Hawkmoths, the wing of hawks

Teeth of domestic dog, teeth of a wolf

None of the above

oo o

c. WPpddiaid, ThUfgarhaid

d. STAGBISHE

What is the other name of Wolffian duct?
a. Ejaculatory duct

b. Major sublingual duct

c. Mesonephric duct

d. Cystic duct

JIfehaTS e HIGURMTHERITG?

a. IhdadmagH]

b. T EHST3ITSHT

c. HgHhemare!

d. o

When the activity of one gene is suppressed by the activity of a non-allelic gene, it is known
as

Epistasis

Hypostasis
Pseudo-dominance

. Incomplete dominance

EEIE R INIBEANIG CIREI IR RIN I ECANIRICIR R FEI IS IRIERG IR

5§
HETHSENIAR |

a. UUwIRY

b. dRd

o0 oW




c. TIUYA
d. SMERIYE

29. What are the species found in different geographical locations called?
a. Sibling species
b. Sympatric species
c. Morpho species
d. Allopatric species

IR PRI EA B B PRI EGI NP R I G R

a. TyafeRmmenfa
b. TeMYfauSid
c. HIBOSa

d. TAfeHUSd

30. Which of the following microorganisms is responsible for urinary tract infection?
Bacteroides fragilis

Klebsiella pneumoniae

Proteus mirabilis

Escherichia coli

THUS Geh AU (YR R dH P TG g S [ oGR8 ?
CERRERR I aTINE]

ENEIRISIEEIECI

fRRgfIARIS e
ERNIERICAKI]

o0 o

o 0 T o®

Part A (Only for Commerce Students)
Section A: Accountancy

1. Revenue is generally recognised being earned at the point of time when
a. Cash is received
b. Sale is affected
c. Goods are delivered
d. Production is completed

AR IR D ISP [ gUR ST b AT dTgoTd

EN

a. ddHCUTsIde




b. fespiuwTfaagicdie

c. HIAUgdrSIdle

d. ARG

2. Which of the following are general objectives of accounting?

I. Maintenance of Accounting Records
I1. Providing information
[11. Ascertainment of Profit or Loss

IV. Depiction of Financial Position

a. landll

b. Hland IV

c. land IV

d. I HlandIV

RIS e A g R dH S g ?

. ARATH N RAI P REIETG

IS CRIEME RG]

1. F‘IT‘J-IHIE;IIr'\'IOhIHdIﬂ‘II"II

Iv. foafRufamiFkar
a. 13RIl

b. 13RIV

c. 13RIV

d. 1L 3R v

3. Which of the following is not followed in capital budgeting?
a. Accural Principle
b. Cash flows Principle
c. Post-tax Principle
d. Interest Exclusion Principle

R SRR - 3,
a. PIHBRIGId

b. THcIUdBRIGId
. CHIBAEIGHINRIGI




4.

7.

d. SISRSAUIRIGId

Identify the wrong rule out of the following options.
Nominal account-credit all incomes and gains
Nominal account-debit all expenses and losses
Real account-credit what comes in

Personal account-debit the receiver

oo o

o o\ e

EEIRER IR UGB ECALREIET

a. FTHAERATAI-hiS et mIanRery

In triple column cash book, cash withdrawn from bank for office use will appear in

a. Both sides of the cash book.

b. Credit side of the bank account.
c. Debit side of the cash book only.
d. Credit side of the cash book only.

RUaeiaasIgHH, FrafaSUaNGusGaImesmEgRu _  Hie@sam|
. PREHHCHIARI

a
b. SHEAPIPISTUL |
C
d.

FAAHIATHBISICTE |
abdﬂcb-llgcbcblwlscu&fl
Cash book and pass book are different because of
a. Time gap
b. Transactions only recorded by bank
c. Error committed in bank and cash book
d. All of the above

FHRUIB D SRUTITH AT |

a. USRI

b. PIASPGRINDISHTITAT-
C

d.

SIRBTHT

In the absence of Partnership Deed, interest on loan of a partner is allowed:
a. At 12% per annum



10.

b. At 8% per annum
c. At 6% per annum
d. Nointerest is allowed

TrReRifaaad Ui, TemarfiesurReSd s Hfad o e:

a. 12% UfddSep e
b. 8% UfdaydIay
c. 6% Ufdaydied

d. DDA e e
The old profit sharing ratio among Kunal, Dheeraj and Mohan were 2 : 2 : 1. The new profit
sharing ratio after Dheeraj’s retirement is 3 : 2. What is the gaining ratio?

PN, TRSIRAG TG SR ATATHATTR R ABTSIUT 2: 2:

1T | RoTeh I Ra T g RIp ST TTeT HITTe R TSUTd 3: 2 B [ATH 3 aTdaTs?
a. 3:2

b. 11

c. 21

d 22

Unrecorded liability when paid on dissolution of a firm is defined to:

a. Partners’ Capital Accounts

b. Liability Account

c. Realisation Account

d. None of these

BHB A TRYFTAIh U UR SUfE T AR HT A N TG :

a. U Ueasmred

b. CHIRATAT

c. SIERaTar

d. FTEADISG!

When forfeited shares are re-issued the amount of discount allowed on these shares cannot
exceed:

a. 6% of paid up capital per share

b. The unpaid amount per share on forfeited shares

c. 10% of called-up capital per share

d. The amount received per share on forfeited shares

e NS
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. ORI B aTdSienT 6%

. STeRIIRIRUfaRIR 3 a eI
UfRIIR® TS USIIhT 10%

ST RITR IR U TR AR

Section B: Economics

1. When marginal product rises, total product

a.

b.
C.
d

Can rise or fall
Rises

Falls

Remains constant

SEHAA3 MG 3TdTe, AHAING

o0 o o®

ISUNRIG TR
REASIGIN
iR SiTare
fRRYEaR

2. Which of the following is not the function of the central bank?

a
b.
c
d

Banking facilities to public
Banking facilities to government
Lending to commercial banks
Lending to government

P ey

=~ A

SEGICIEIERIN IO

.wr&hﬁé%mﬁ%rrq

a
b.
c
d

CIIIUII\qu’Jdd)IGbI?l'SUIQ"II

. WMHRPISYRSA

3. What does disinvestment by government mean?

o

Selling of its buildings

b. Selling of its fixed capital assets
C.
d. All of the above

Selling of shares of public enterprises held by it

WRHRGRIFAAALBTET3AE?
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. Who is the main source of money supply in an economy?
a. Commercial banks

b. Central banks

c. Both (i) and (ii)

d. Government

TR b I e Hg?

a. gIofcIpe®
b. HorgaH

c. QI (i) 3R (ii)
d. WRBR

. Which of the following is not a problem of barter system of exchange?
a. Double coincidence of wants

b. Store of value

c. Unit of account

d. Unemployment

NP . -

a. SOIINBICIGIHN]
b. Head
C
d

. WP
. SRR

If an economy is to control recession like most of the Euro-Zone nations, which of the
following can be appropriate?

a. Reducing CRR

b. Reserve Bank of India

c. Both (i) and (ii)

d. None of (i) and (ii)

H@Hﬁé&ruwdaﬂ@ \ﬂlﬂqoaimr‘\f@?ﬁﬁwﬁmvm-cﬁﬁ%

NN\

dII"I{:IIﬂl@dHHdﬂ"N‘lldH%ddGlHd’dl'é?
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CRR®IGHBAT
HRARSda s
3T (i) 3R (i)
BISTEI (i) 3R (ii)

Average Propensity to Consume =
SUYRTHRAB TG =

AC
a. —

AY
Cc

b.
Y

C.

d. AY —AC

C-Y

Which of the followmg is correct in reference to the equilibrium level of GDP?

oo o w

What is the desired savings in an accounting year called?

oo o

Actual saving
Ex-post saving
Ex-ante saving
None of the above

ECIER ECIEREEREAERIC TSR

o0 T o®

GRS

qducdmiead
PRIIRIGEER]

TTAABILHITE

If the value of MPS is 0.4, what will be the value of investment multipliers?

IEMPSHTHI 0.4 8, AARAUTHIBIHIFTEIN?
4

b.
c

3
2



d. 25

Section C: Business Studies

o ooy -

How is the growth of business measured?
in terms of sales volume

increase in the number of employees

the increase in capital investment

all of the above

IR gl P IATIISTd 2

o0 T ®

IEEACALIEICES A
'. ﬂiﬁ'”; “E'l '@5'5” s
SIRBHGH

Which of the following comes under the top management?
Chief executive officer

Operations manager

Foremen

. Supervisors

B INITEREREARPILEEREC A IR C I

20 o w

2. JTEBRHGRISHUGR
b. g D

c. BRET

d. Tdeel

Which one of the following is not a probability sampling method?
Simple Random Sampling

Cluster Sampling

Judgemental Sampling

. Systematic Sampling

RTINS G HTET TSGR g 5 ?
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What is Call Money?

Money borrowed or lent for a day or night.

Money borrowed for more than one day but up to 3 days.
Money borrowed for more than one day but up to 7 days.
Money borrowed for more than one day but up to 14 days.

PHIAHH TR ?

o0 o o®

o0 oo o

Q$IE:|QIQI(_‘|3'3|%1Q3?JR|?1€H‘Itll‘EF‘fI
ThieAa3Himafe 3 feaidp b ieuIURICANTITY |
ThieAa3Himafe 7 fgAidp b iuI YRR |

T feTR3fITmalP 14 fRAldp I yRicrarmT=|

Instruments with a maturity period of less than one year are traded in .
Stock exchange

NSEI

Capital Market

Money Market

o\ o\

Uh I IADHHB TR TH AT IS UHRUTh] EEANGIN GRS ISR

oo T w

YRR
NSEI

PEIEISIN
ETETSIR

. Match the various stock exchanges in List-1 with the years of their establishment in List-11 as

follows and suggest the correct code:

List-I List-11

(a) National Stock Exchange (NSE) (i) 1875

(b) MCX Stock Exchange (MCX-SX) (i) 1992
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(c) Bombay Stock Exchange (BSE) (iii) 1998
(d) Interconnected Stock Exchange of India (ISEI) (iv) 2008
Tail- | A eRe (U Sib gl |
AT RITIATH T H AT AH S SR [ S ITU:
ﬁiﬁ l i1
(a) TRFTREIBUFTAS (NSE) (i) 1875
(b) MCX anﬁa (MCX-SX) (ii) 1992
(c) SR HUFIAS (BSE) (iii) 1998
(d) HRABTScXP-ac S IhUaTT (ISEI) (iv) 2008

(@)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
(@)-(i), (b)-(iv), (c)-(ii), (d)-(iii)
(@)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
(@)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

Principles of management are not:
Universal

Flexible

Absolute

Behavioural

o . [aU2\3

P RIGIdTele:
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"Gang plank™ is a term associated with which principle of Fayol?

8
a. Equity
b.
C
d

Order

. Scalar Chain
. Initiative

VW S -
a. sfpel
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9. Which of the following dimensions of the business environment includes legislation passed
by the Government administrative orders issued by government authorities?

Technological environment

Social environment

Economic environment

. Legal environment

NPT TRt - UGS
TR ISR ?
SCZRICACIRICRUI

R IBISCEIRIEEY

nfferTEIa
CAC GBI

2o ow
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10. The full form of FIPB is:

a. Foreign Investment Promotion Board
b. Foreign Investment Policy Board

c. Foreign Import Promotion Board

d. None of these

FIPB $TYURUR:

. fac=ifoeiadaars
. fae=ifagHifass

. fac=Remadadars
EEERCIER I

o O T o

Part A (Only for Humanities students)
Section A: Geography

1. Which of the following statements is correct regarding the Density of Population?



a.lt is the ratio between the number of people in a country to the number of people in the
state.

b.It is the difference between the number of people and the size of the land.

c.It is the ratio between the number of people to the size of the land.

d.None of these

SR & O o gy H FEfaied # 9 @ O HyF 98l 82

a. T8 [l 32 & ATl ot e SR Irog | il B T & S T U B
b. TE AN P T 3R Y & MHR & o BT 3R g

c. TG AN B ISAT 3R SHIA & MHR & §id BT A 5 |

d. STHIDS T8l

2. Which country has the lowest sex ratio in the world?
a.United Arab Emirates
b.Latvia
c.Rome
d.India

forg Sz & g & T o1 fRivud 32
a. g 3R HRTd

IRICE

c.JH

d.HRd

3. Which state of India has the highest rank in Human Development Index (HDI) value?
a.Assam
b.Tamil Nadu
c.Mabharashtra
d.Kerala

YR & o I8 § A4 AT YErabics (HD1) Hed H a3 82

a.3gH
GBI
c.HeRTY
d.Pd

4. Which of the following is not an Agro based industry?
a. oils



b. pottery
C. rubber
d. silk

g o ¥ o i smenfea I e 82
a.qd

b St P &

c.XsR

d.33H

5. Which city is the main polluter of river Yamuna?
a.Lucknow
b.Kanpur
c.Kolkata
d.Delhi

AT ¢! BT G- UGS DI T XMeR 62
a.qdd"1%

b.BTGR

C.BIABIdI

d feerit

6. Which country is the largest trading partner of India?
a.Russia
b.China
c.Japan
d.USA

HRA BT a8 981 AR HIfleR i 1 32 82
a. =Y

b. 9

c. Sl

d. 3RIdT

7. Which of the following ports is known as the “Queen of the Arabian sea”?
a.Haldia Port
b.Kochchi Port
c.Paradwip Port



d.Chennai Port

g # T forg deTE B! "3RT YWR &I I & U H ST STl 82
. gfegarure

. Pl dGTE

. WRgY §e3g

P ERIT

8. Which of the following is not correct?
a.Europe is the leading producer of iron ore in the world.
b.Antarctica has significant size of coal deposits.
c.Brazil is the largest producer of high grade iron ore in the world.
d.Australia is the world’s largest producer of diamond.

frafafied & 9 & a1 98 781 82

. U g g 3 &l THE SUEH B

3feThied! | B & HER HT HEAYU! HR g

. S g B 3 IS & i SR &1 Uad 981 SUGH |
. SfTferan gfaT &1 Ted ST 8RT ST g

o O T o

9. Which of the following is not true for life in Amazon basin?
a.It has hot and wet climate throughout the year.
b.Bromeliads i.e. special plants that store water in leaves grow here.
c.In night, temperatures are very low but humidity remains high.
d.These are suitable for cattle rearing.

3o o B fFafafed & @ @ I Sitas & fore a@ 78t 82

. ZH QX ay T 3R 3T SIaarg gidl 6|

. Sactergy g faRy Ui S aftal & U S| R €, 3 g8t ST | |
7d B AT 9gd HH BIdT g Afde fTedl 3% &l ]

. Y UgUTeH & 7Y Suge B

o o T W

10. Which city is the headquarters of the Organization of Petroleum Exporting Countries
(OPEC)?
a.Vienna
b.Paris
c.Tokyo



d.New York

Ueifera frafas <=1 & T (U)o e frd TR H 82
fag=n
R
AR

pIuIC

o0 o ow

Section B: History

1. Which of the following statements hold true about the domestic architecture of Harappan
civilisation?

There were windows in the walls

Some houses has stair cases

Only (a)

Both (a) and (b)

ﬁgmﬂﬁ@mwdmlue@m@wmm? 8?
A
SN
$ad (a)
(a) 3R (b) Sl

oo ow
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The traces of Janapadas and Mahajanapadas are found in
Jaina texts

Buddha texts

Both (a) and (b)

None of these

o0 Te N

STUG 3RHGTSUG B -RIT HureSTTag |
a. SIOHTY

b. g&UY

c. (a)3MR(b)aHl

d. STEDIRTa!

Which language was used to write Jatakas?
a. Pali

w



b. Sanskrit
c. Hindi
d. Prakrit

CIRCEAINICECANINE RSN CAIP IR et K e
a. Tl

b. A&pd
c. fgdt
d. Wpd

&

Where is the first ever mention of the four Varnas found?

Ramayan
Upanishad
Rigveda
Purusha Sukta

oo o

IRV BTUHIUIG B AIdIR?

THTIOT
IuHYg
H1dg

ERIERC)

Which Chinese traveller gave an account of the life of Scavengers?
Alberuni

Fa-Hien

Xuan Zang

Itsing

o0 T ®

o0 o o

o (e ¥l a (a}

ERCIBIRIEIEE S T N EANIE B CANIC IR IR,

WIRdH

31T

Which of the following texts is related to Queen Kamalavati?
Dipavamsa

o o T @

P o



b. Uttaradhyayana Sutta
c. Abhidhamma Pitaka
d. Tirchankara

TG HaEdeReyRE Ry fhTRg?

o0 T o®
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Who is the author of ‘Rihla’, the book of travels?
Al-Biruni

Fa-Hien

Ibn Batuta

Bernier

IS IS REAT HoadHm D e ?

o0 T ®

o0 T o

AT
LAIRCIE|

EERSOL
CIEUN

The Thanjavur temple was constructed under the patronage of
Chola kings

Pandya kings

Chera kings

None of these

AoTaRACRBIHTT HIREUH BN |

o0 T ®
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Who were the Amara-Nayakas during the Vijayanagara empire?
Chief Priest

King’s Secretary



c. Military commanders
d. Chief of households

T RIS R SHRT- ARG B

YR
NEIEIRIEE

AIHHTST

10. What was Diwan responsible for?
Chief of Army

Head of the village

b
c. Supervising fiscal system
d. None of the above

o0 T o®

o
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Section C: Political Science

oo o

Which of the given statements is wrong?

In 1962, Khrushchev placed nuclear missiles in Cuba.

The Cuban Missile Crisis was the high point of the cold war.

In August 1942, atom bombs were dropped on two American cities.

The western alliance was known as "NATO" and the eastern alliance was known as "Warsaw
Pact".

o ooy e

EN EN
P AP Yde?

1962 H, GY I ETHRATIAHTg R |

a
b. S AHBCRITagGHISHAEGH|
C
d

. 3T 1942 ¥, GI3HR U IRIRATEHNRITTIY |
. g TEEA®! el FURSHSTArIRYd T s aRamifer

HEUHSIHTSTATYT|




o0 TN

Define "Shock Therapy".

The transition from an authoritarian socialist system to a democratic capitalist system.
To help the member countries.

To control the member countries.

To deny giving help.

"RIp R HITRHTDS |

o0 oo

20T w

kGhHTIIdIQIHHI\ﬂdIC'(IOLIOI\LQI{-Ikd?ﬂld)dll?ldﬂzl\\flldldld—{d%mqhaﬁ:f|
SR P G HIT|

SR AL AIE DI PR ERE EA NI

HEG G THRBAD [T |

Who gave the title of "new world order"?
George Bush Sr

Washington DC

Gorbachev

None of these

ﬂéﬁmwmw%ﬂﬁmr%
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What do you know about the "Marshall Plan"?

America extended massive financial help for remaining Europe's economy.

Russia helped to reorganise the East European economy.

To reorganise the economy of the Eastern Europe, assistance was given by the US and the
USSR.

None of these.

TR 9 d>®|I~U-I31IqOMIUII"|(‘I6'7

b.

a. ARSI TTRIG IR EHaS ARG aHE G |
EUYA RIS ae TR R e e -"HAG G ® 1 |

c. YRR rfEaRIBI A S amAdB e, ARG S RERIIERHAG TS T |
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The war between India-Pakistan that resulted in the birth of Bangladesh took place in which

year?

YRA- UG AN H g 3TT?

1967
1971
1977
1980

In UN Security Council, how many countries have got "veto" power?

Five
Six
Seven
Ten

Match the terms with their meaning.

(a) Confidence Building Measures (BMS)

(1) Giving up certain types of weapons

(b) Arms control

(i1) A process of exchanging information
on defence matters between nations on
a regular basis.

(c) Alliance

(iii) A coalition of nations meant to deter or
defend against military attacks.

(d) Disarmament

(iv) Regulates the acquisition or
development of weapons.

PIEACARE G N E R I G BN
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(a) _ _ (i) PBOUPRBEAAR G
PSS CSITHTY(
BMS)

A

(b) 3TRIdHeId (ii) AT S TUR IR b el R & THTH A U= Th 3TeT-
PEBEAICasIERI]

(c) TEEYT (iii) . ,
R G EE PR B NN C R R NICA R RINEGICRIE GG
ERGIE

(d) PR (iv) sRARIG RTgURe S Fdsdre

(@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(@)-(iv), (b)-(ii), (c)-(ii), (d)-(1)
(@)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(@)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

Which among the following is true about the Global Commons?

The global commons are outside sovereign jurisdiction.

The question of managing the global commons has reflected the North-South divide.

The Earth's atmosphere, Antartica, Ocean floor and outer space are considered as part of the
global commons.

The countries of the North are more concerned about the protection of the global commons
that the countries of the South.

o\ O S
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N S v N\ EN
AdldRgdHAD ISP [HAD FHIRHATR?

a. dAGHHTATYAIFRBAERG |
b.
C
d

P B ATH IS YTPIATATSIR- AU HTSTh TS o b AT |

. RAISAGHS, SelfédT, TERTRGITARATE T o AT e |

. IIRP GBS M b A Y B P IHTb I UIBTRA A Tb g |

What are the factors which influence globalisation?
Development in science and technology
Development in transport and communication
Impact of capital and commodities

All of these



IR PRUBITHITITRA TG RBRITE?

a.
b.
C.
d.

10.

e

b
C.
d
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When was Hyderabad merged in India?
September 1947

. September 1948

September 1949

. September 1950

e REICHTHRAAAAIHEGHT?
. Fydex 1947

. TIdex 1949

a
b. RIdeR 1948
C
d

. Rdev 1950

Part B (Common for all Stream Students)

Section D: English

o ooy k-
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3.

Choose the correct spelling of the word from the given options.
Bouquet

Boquet

Bouquete

Bouquette

Choose a word opposite in meaning to the given word.

LUBRIOUS

Soft
Famous
Malaise
Sticky

Choose the correct meaning of the idiom/phrase.

To have a brush with



To have good and pleasing terms
To start painting

To be impressed

To have a slight encounter

o0 ow

4. Choose the best alternative for the underlined part of the sentence.

Knowing the area was prone to earthquakes, all the buildings were reinforced with additional
steel and concrete.

Since they knew the area was prone to earthquakes,

Since the area was known to be prone to earthquakes

Having known that the area was prone to earthquakes

Being prone to earthquakes

o0 o

5. Choose the word which is similar to the one given below.
BLITHE

a. Indifferent

b. Grudging

c. Joyless

d. Somnolent

6. One or two words are missing in the sentence given below. Choose the appropriate option.
Men with great and knowledge are usually very polite and

a. Ambition, obscure

Wealth, cruel

Wisdom, humble

Foresight, sad

oo o

The courier company luckily delivered the letter
On right time

Right by time

Rightly on time

Right on time

Qo o N

She was that she could not sleep.
Much excited

Very excited

So excited

Too excited

20 o o

9. Pick the appropriate word that would make the sentence meaningful.



He was punished for the of his duty.
a. Immaturity

b. Dereliction

c. Criticism

d. Percolation

10. Arrange the words properly so that they would make a readable sentence.
Death, before, times, their, cowards, many, die

1 2 3 4 5 6 7

2431756

5763241

4657123

6375124

oo o

Section E: Logical Reasoning

1. A bus starts from city X. The number of women on the bus is half of the number of men. In
city Y, 10 men leave the bus and five women enter. Now, the number of men and women is
equal. In the beginning, how many passengers entered the bus?

IR X AUHTIYE e d e [SqHAfganalie g yimaeasdis IR YH, 10
PSSR UTIH AT AR g 1319,
TNl RAR AP RIBITeRISRE o3, fhdarmanegauaiean

15
30
36
45

o0 o

2. ldentify the pattern and find the missing number.

2N C O NN . .
UCAD U dIIh AR ATTATIRATH U AT |

12 8 16 7 25 21

30 207 ?

a. 184



b. 210
c. 241
d. 425

3. Pointing to a man in a photograph, a woman said, "His brother's father is the only son of my
grandfather.” How is the woman related to the man in the photograph?

Mother

Aunt

Sister

. Daughter

Wﬁﬁwmm,mﬁaﬁw
"G HE G UdTERGIGIbsHadacs | THRHARGATI e b aaRga s g ?

2o ow
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4. Given that: A is the brother of B.
C is the father of A.

D is the brother of E.

E is the daughter of B.

Then, the uncle of D is

JgaWagufd: A, B HTHTES |
C, A HIUAR|
D, E BTHTS R |
E, B Placig|

iR, D BT gl

A
B
C
E

oo oe



5. A particular relationship is given and another similar relationship has to be identified from
the alternatives provided.

Rampart : Fortress

River : Lake

b. Fence : House

c. Cage: Animal

d. Parapet : Roof

i

T ARG IR 3R TS SR S YU M h U g el g g |
fhapigar:fear
I

a

b. &8: W
c. fUSRT: Uy
d. dlaR: &d

Which of the following is the same as Canoe, Raft, Wangan?
Dinghy

Shallot

Canopy

. Submarine

FufaRaaade e, The, IHGIHE?
it

Bl
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7. A particular relationship is given and another similar relationship has to be identified from
the alternatives provided.

Quiail: Partridges:: Yak:?

a. Cows

b. Deer

c. Oxen

d. Antelopes
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8. Birds are related to Aviary in the same way as Bees is relatedtoa .
a. Aguarium

b. Hive

c. Brewery

d. Apiary

9. Choose the set of numbers similar to the given set.
Given set: (6, 13, 22)

e R B RIcT |

fearmaie: (6, 13, 22)

(6, 13, 27)

. (10, 16, 28)
(11, 18, 27)
. (13,19, 32)

oo o

10. Choose the odd one out.



Nephrology
Entomology
Astrology
. Mycology
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